EARAROBEEIERT — 2 N— IBISH —F

201868270 (k) 3mEEFI2H

Ll > % 3m% —

115AFL340AKH

‘ (] 8 ‘ [EmmEl  — | 4 () 14000 B

[A~&£] 17 :1,100,000  ~ 23 :385,000 37 :220,000 3

4 7% :165,000 F 5 3& :110,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= N # 3 | JIBEKE 1:31.3 5-4-5-4 | 40.3| — 4 495 | AR ()
16717 —EFIN 56.0 = bs | B HZRTEE
RNZ—k1—X B:7L—IKJa1X Gt e
S o Is 4 3 | SEHEK 1:31.3 3-3-32 |40.9| — 3 451 | BERETT (AN
2|810| TT> =LA R 5.0 (7€) us | FBER
L:I—-2>T747—F BTS2 bX=X FERS
s . t 3 | ARk 1:31.6 11-11-7-5 | 40.1| — 5 443 | FEABIE GEF)
3l7lg9 | ADBET)T L g 56.0 (1 1/2) (46) FO-SH—EX ()
L:O—-LiFLr4o BNCTAET b e]
Ny N . HEBET : -1-1- - TFILES (GaF)
4 NPETFIPIN 4 3 Bl (12.312/.21) 1-1-1-1 | 41.9 8 <4+319) Wintaiid
L:7vy3I7—L B:a $—hFrR-—F JiAriE e
5 2| ANV IRTY Y € 3 | BorHn 1.(322).5 10-9-11-8 | 40.7 | — | 11 :345) gg;i (#n)
L:ixA42aR—-5— B:OAYILST4 > Sekie]
5 4 3 | FEER 1:32.9 2-2-2-3 |42.7| — 7 453 | FEIAERE ()
Y ¢ HARENEAS 4.0 @ (45) | PHIE
R:Z2%— k77N> BiAY /G4 H xR —8l
= w REFE :33. -10-8- . - gy GaFn)
7055 EUF>TY 3 ] 1(32333 9-10-8-11 | 41.8 6 (4;9) e
L:Ayizgy—x BEVFCT4—FR FH FB
SR # 3 | EERR 1:33. 6-7-6-7 |42.4| — 1 455 | EE—S (#F)
glgliy| FavTaLA—F 54.0 (76) (10) | BAEmES
R:AREFY BiAYEATE L4535
SN N . R :33. —-8-9- . — EH—RI ()
9 3 ET7LHTY)—> 4 3 =5 1(313)6 8-8-9-10 | 42.1 2 <4+715) ki
L:ihxkexy BANLH—IL 1S
UL # 3 | EllIFRtL 1:33.7 4-5-4-6 | 42.7| — 9 489 | KEFES (7N
10/ 8 [N F/ ¥ F v 6.0 (1/2) oy | BB
L:b—t2RTLERY BV F plitie)
> = 4 3 | =EEh 1:33.8 7-6-10-9 | 42.3| — 10 460 | FERE (AR
1"l EZbM)=F> 56.0 7E) (o) | FEXE
R:€>r/ K53y B:ax/€U-X ER S
@ 1 — S —EBlIEf
13=7r= 4,7,10,8,6,11,1,3,5,2,9
2a=7r= 4,7,10,6,8,1,11,3,2,5,9
Jol=5r= 4,7,10,8,6,11,9,5,3,1,2
40—+ — 4,10,7,6,9,8,11,2,1,3,5
[ N3
BB 6 780M 714K 6-10 740M % E 6-8 510 3EHE 6-9-10 4,230/
8 B 6 260M 6-9 900M B 6-8 1,740 K31 6-10-9 24,810
10 210M 9-10 790M B E 6-10 2,450/
9 290M B 6-10 4,370M

ABICOVWTRDTEEERROODE. TR LIV,




